
L2(81) (mod 41)

blocks defect matrix

G : 1 1 22× 2
2 0 411 = χ2, ϕ2

3 0 412 = χ3, ϕ3

4 0 821 = χ25, ϕ5

5 0 822 = χ26, ϕ6

6 0 823 = χ27, ϕ7

7 0 824 = χ28, ϕ8

8 0 825 = χ29, ϕ9

9 0 826 = χ30, ϕ10

10 0 827 = χ31, ϕ11

11 0 828 = χ32, ϕ12

12 0 829 = χ33, ϕ13

13 0 8210 = χ34, ϕ14

14 0 8211 = χ35, ϕ15

15 0 8212 = χ36, ϕ16

16 0 8213 = χ37, ϕ17

17 0 8214 = χ38, ϕ18

18 0 8215 = χ39, ϕ19

19 0 8216 = χ40, ϕ20

20 0 8217 = χ41, ϕ21

21 0 8218 = χ42, ϕ22

22 0 8219 = χ43, ϕ23

blocks defect matrix

2.G : 23 1 22× 2
24 0 8220 = χ66, ϕ26

25 0 8221 = χ67, ϕ27

26 0 8222 = χ68, ϕ28

27 0 8223 = χ69, ϕ29

28 0 8224 = χ70, ϕ30

29 0 8225 = χ71, ϕ31

30 0 8226 = χ72, ϕ32

31 0 8227 = χ73, ϕ33

32 0 8228 = χ74, ϕ35

33 0 8229 = χ75, ϕ34

34 0 8230 = χ76, ϕ37

35 0 8231 = χ77, ϕ36

36 0 8232 = χ78, ϕ38

37 0 8233 = χ79, ϕ39

38 0 8234 = χ80, ϕ40

39 0 8235 = χ81, ϕ41

40 0 8236 = χ82, ϕ43

41 0 8237 = χ83, ϕ42

42 0 8238 = χ84, ϕ45

43 0 8239 = χ85, ϕ44



Block 1: ϕ1 ϕ4

11 = χ1 1 .
801 = χ4 . 1
802 = χ5 . 1
803 = χ6 . 1
804 = χ7 . 1
805 = χ8 . 1
806 = χ9 . 1
807 = χ10 . 1
808 = χ11 . 1
809 = χ12 . 1
8010 = χ13 . 1
8011 = χ14 . 1
8012 = χ15 . 1
8013 = χ16 . 1
8014 = χ17 . 1
8015 = χ18 . 1
8016 = χ19 . 1
8017 = χ20 . 1
8018 = χ21 . 1
8019 = χ22 . 1
8020 = χ23 . 1
811 = χ24 1 1

ϕ1 = 11
ϕ4 = 801



Block 23: ϕ24 ϕ25

401 = χ44 1 .
402 = χ45 . 1
8021 = χ46 1 1
8022 = χ47 1 1
8023 = χ48 1 1
8024 = χ49 1 1
8025 = χ50 1 1
8026 = χ51 1 1
8027 = χ52 1 1
8028 = χ53 1 1
8029 = χ54 1 1
8030 = χ55 1 1
8031 = χ56 1 1
8032 = χ57 1 1
8033 = χ58 1 1
8034 = χ59 1 1
8035 = χ60 1 1
8036 = χ61 1 1
8037 = χ62 1 1
8038 = χ63 1 1
8039 = χ64 1 1
8040 = χ65 1 1

ϕ24 = 401
ϕ25 = 402


